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COMPUTER HARDWARE SSC-I
SECTION - A (Marks 08)

Time allowed: 20 Minutes

NOTE: Section~A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B / CJ D. Each part carries one mark.

(iv)

(vii)

(viii)

The base of binary system is

A. 186 B. 8 C. 2 D. 10
According to Sl system, the unit of Resistance is

A Volt B. Ampere C. Ohm D. None of these
Electric charge on an electron is

A 1.6x10" Ohm B. 1.6x10™" Columb

c. 1.6x107"¥ Ohm-metre D. 1.6x10" Columb

The electrical conductivity of Semi-conductors is conductor and insulator.
A Between B. Greater than

C. Less than D. Equal to

Value of V, in Germanium diod is volt.

A. 0.3 B. 0.7 C 0.9 D 0.1

1 Megabyte = bytes.

A 2! B. 23 C. 28 D. 2%

The Virus which gets activated on a specific date is called

A Historical virus

C. Time bomb virus

B. Worm

D. Trojan horse

The first thing computer does at the start is called

A Power on save test

C. Power on save time

For Examiner’s use only:
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B. Power on self test
D. Power off self test
Total Marks: 08

Marks Obtained: D
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COMPUTER HARDWARE SSC-I %” 71

Time allowed: 2:40 Hours Total Marks Sections B and C: 32

NOTE: Answer any six parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B {Marks 18)

Q.2 Answer any SIX parts. The answer to each part should not exceed 3 to 4 lines. (6 x3=18)
) Wirite truth table and draw symbol of the following gates:
a. XNCR b. NOR C. XOR
(i) Resistances of 2, 3 and 5 Ohms are connected to a battery of 10 V in a series circuit. Find its total

resistance, total current and current on each resister.

(i) State Ohm's law with the help of equation.

(iv) Upon what does the capacity of a capacitor depend?

(V) Write a short note of Scanner.

(vi) Write a short note on Bootable disk.

(vi)  Convert (420), to binary, (1111), and (9FED),, to Decimal system.

{viii) Find the colour band of the following resistances:

a. 100 k Ohm 5% b. 470 Ohm 10% * c. 10 Megaohm 20%
SECTION — C (Marks 14)

Note: Attempt any TWO questions. All questions carry equal marks. (2x7=14)
Q3 a Write a note on P-Type silicon. 04

b. Briefly explain Semi-conductor. 03
Q4 a Write a note on ink-jet Printer. 04

b. Write three main purposes of a Resistor. 03
Q-5  Analyse the losses of Computer Hardware and its preventive measures. 07
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